MAT 222, Exam #2, Sum

Instructions: You may us
3x5 index card, which you will turn in with the exam along with any
center. It's important to show all work, and explain your reasoning.

around your final answe

1. Determine if each statement is True or False. If you mark false, explain why the statement is
false, or rewrite the statement as a true one. In the figure, as#ume lines AG and DI are parallel.
(1 point each)
a. T (9 All isosceles triangles are equilateral triangles.
U 22 lliale 2R fOserlsn
S
b. @ F meLIHG + meHGI + msHIG = 180°. P
A f:.':‘,/‘
C. ® F All right triangles have two acute ang]es. ‘//
s /// .‘.‘.\\
d. T C: If two triangles have the same three \ %{t\uﬂo—!’ i A
NE : 7 H i
angles, then the triangles are congri ¢nt. M.Q)/a //
e. T CD The circumcenter is the center of the. F
o inscribed circle around a triangle. rf\.em:b#
f. @ F The intersection of the medians of a ﬁriangle mark &t the centroid.
{
g @ Another name for an indirect proof |-siproof by contradiction.
h. @ An n-gon is a general term for a poly%on with n sides.
i T The image to the right is a convex po{b/gon. Concavt,
|
j. T A quadrilateral with a pair of paralle fides isa
parallelogram. oy 4 MW
k. T Q) Two skew lines are coplanar. WH W
2. Find the values of x and y that make the lines p and g parallel. (5 points)
2d P q
. [ (= +vy = 8¢ ]
Yx + bxt+y|=180= (0% +y / /

r+YF K+

mer 2017 Name

KEY

e a protractor, compass, ruler and calculato

r after calculations. Give exact answers unle

Sd=
L (4y)+y =18
9y = {80

=2

Sy

r for this exam. You may also use a

scrap paper provided by the testing

jt is helpful to put a box or circle
s specifically asked to round.

v

dx /f6x+y) / {x + 5y
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3. Planes AEF and

EHG are parallel. Find expressions for two lines that are

skew. (3 points

4. For each pair of

DHG are parallel, and planes ADB and

i)

] X<

C

A

&3443(:@«# waﬁ
&Mﬁw«w

5. Given that AACD is isosceles, with base CD, 21 = 22, and

BD = CE, prov
step, and each t
(7 points)

Cower DACD tsorclse =

B (

that AABC = AAED. Be sure to state each
eorem or postulate that justifies the step.

A . F

10D .
(s
H

triangles shown below, determine whether the triangles are congruent. If so,
explain the postulate the proves it. If they are not, explain wi

y not. (3 points each)
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6. Using the figure
a. Find m«1.

186 =57

(1'% 5
b. Find m«3.

MLl rmcz =
Mz = 19

M2+ mdlD +M3° 2 (K>

Im <
Consider AA
Which angle
exterior ang

L,
L7,

C.

d. IsABCD sim

A0

7. Use the diagram

at the right, answer the following questions

+ S5 cwnl\
(=33

ot -
4

. (3 points each)

LD = 28

BD.

S are

es? List at least three.

4 < ig
<9

ilar to AABD? Why or why not.

L ABD o /00° shuch
2.2
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below to find the values of x and y that wil
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make the two triangles similar. (6 points)

+ IS X
b 8

by + 210 = 22
2107 By
- {05

- —— -
=

26.25




8. Use the diagram|to the right to explain why we are
unable to claim that PQ = PS. State any theorems you
use. (6 points)

prgf bebochts Ao nat .
; / ‘ Wj—wmm
dive )

So a0t Can't S

W“b"] SAS,

9. The AABC is shown on the coordinate
plane. Use the diagram to find the -4
following. (3 points each)

a. The coordinates of point M (midpoint of
BC).

((2£%).(55)) = (s,3)

v
s
(s
’ o
S’

b. The coordinates of point L (the midpoint
of AB). .

((es2) (o)) = (1,3)

¢. The equation of the line LC.
m= 30 | 2 y-3= ") Y* 7

- . 2
Vo= At %

d. The equation of the line MA.

™% Y= 2%

e. The point of intersection P.

(3r4 -2 )"

- [SK| 202 ZI¥ (?.2)
2o = X

x-.—.
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1.

10. Draw an example
Regular heptz

a.

b. Concave hexa

11. Find the values of

bs-2 = 73
35 --:?."i'l

120° + T+20 A"

T+140

12. Describe a prope

o dea

What triangle

center term does the intersection represen

of each n-gon described with the given pro
gon

gon

Explain your reasoning.

gFrties. (3 points each)

= &0

|y

0|

rty that the diagonals of rhombi and kites hg

;,,\.oaQ/JCM’“?-J_

[ S and T so that the figure is a parallelogram. (5 points)
C D
h
> >4l | 35+16
65-8
S 20 (T+20%
F E

ﬂe in common. (3 points)




13. Find the geometric mean of 11 and 19. (3 points)

14. A supply depot is

geometry tools (
point P). Leave a

15. Use the informat
perimeter of the

T4 +le

/

on in the diagram below to find the
triangle. (6 points)

—

[

00

,j 1\q = [9.956

to be located equidistant from three forwar
ruler, protractor, compass) to construct the |
Il of your markings and label point P. (7 points

bases: A, B, and C. Use your
ation of the supply depot (call it

_~ .




16. A triangle has two sides of length 6 and 9 meters. What is the.
missing side? (3 points)

17. The coordinates

A(=2,-3),B(3,4), and C(1,6).
a. Draw the triangle. (2 points) ‘ 4

b. Find the equation of line of altitude
to line AB. (4 points)

perpendicula

7“.‘2 ';17.1- __'_%s

c. Find the equation of the line of altitude perpendicular to

. 64

Meac 3

w#}
y+3.

d. Find the loca

—S
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f a triangle are at
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range of possible values for the
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tion of the orthocenter of AABC. (6 points)

e I)T’L

ne BC. (4 points)

\

L 4




18. Use the diagram to the right to find the value of x. (4 points)

20 _ 3
N 1
(80 = Bx

K= ‘%: -2 S

19. Draw a diagram that describes the relationships between the different types of quadrilaterals. (5 points)

// } \’2.




